CURRICULUM COMPENSATION

I RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES NOVEMBER 27, 2024, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-4331-1341-534-5)

Dold, Jena

Stoll, Nicole

II RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES DECEMBER 9, 2024, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-4331-1341-534-5)

Durbin, Lori

Roark, Heather

Nestler, Tena

III RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRANT MIDDLE SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES OCTOBER 16, 2024, \$36.99 PER HOUR, 4 HOURS FOR A TOTAL OF \$147.96 EACH: (10-2210-4331-1341-534-5)

Archey, Heather K Romer, Gina Gibbs, Katie Strauch, Allyson

IV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRANT MIDDLE SCHOOL SCHOOL IMPROVEMENT ILT PLANNING ACTIVITIES OCTOBER 21, 2024, \$36.99 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$46.24 EACH: (10-2210-4331-1341-534-5)

Barnard, Angela Rawls, Nicola

Gibbs, Katie Schwappach, Hayley

Harrison, Maggie West, Erica

Minton, Jacquelyn Ziemba-Montavon, Tammy

Montooth, Jennifer

V RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR RIDGELY ELEMENTARY SCHOOL CO-TEACHING PLANNING ACTIVITIES NOVEMBER 21, 2024, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-2300-1341-531-5)

Dockter, Emily

Rhodes, Lindsey

Eucker, Hannah

VI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION ELEMENTARY TECHNOLOGY BUILDING FACILITATOR STIPEND - MARKING PERIOD 1 AUGUST 19, 2024 THROUGH NOVEMBER 8, 2024, FOR RATE SPECIFIED: (10-2210-0000-1341-564-5)

Bramblett, Rebecca	1.00 Stipend	\$350.00
Covey, Heather	1.00 Stipend	337.50
Cripe, Jill	1.00 Stipend	100.00
Ethridge-Galloway, Tiffany	1.00 Stipend	312.50
Flanagan, Kathy	1.00 Stipend	350.00
Floyd, Alaxandria	1.00 Stipend	350.00
Freer, Deidre	1.00 Stipend	50.00
Grieme, Nathan	1.00 Stipend	175.00
Harris, Hannah	1.00 Stipend	25.00
Helton, Rachel	1.00 Stipend	168.75
Langen, Natasha	1.00 Stipend	350.00
Lauer, Karianna	1.00 Stipend	350.00
Lueking, Mary	1.00 Stipend	350.00
Meyer, Heather	1.00 Stipend	337.50
Nolting, Jenny	1.00 Stipend	150.00
Piper, Riley	1.00 Stipend	12.50
Roher, Kortney	1.00 Stipend	350.00
Rudd, Douglas	1.00 Stipend	62.50
Schwab, Stephanie	1.00 Stipend	256.25
Steinmeyer, Shelby	1.00 Stipend	220.75

VII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EDWIN A. LEE SCHOOL PLANNING YEAR CO-TEACH PLANNING ACTIVITIES NOVEMBER 22, 2024, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-2700-1341-535-5)

Quarton, Lori

Seiz, Anne

VIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR WASHINGTON MIDDLE SCHOOL SCHOOL IMPROVEMENT ILT PLANNING ACTIVITIES DECEMBER 5, 2024, \$36.99 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$46.24 EACH: (10-2210-4331-1341-534-5)

Coons, Roanna Daniels, Sherry Fromm, Kelly Mccarthy, Caitlin Schaefer, Bridget Schatz, Katie Termine, Leslie IX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ADDAMS ELEMENTARY SCHOOL PLANNING YEAR ILT PLANNING ACTIVITIES DECEMBER 4, 2024, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-0100-1341-535-5)

Gilbert, Rachel Mitchell, Natalie Harris, Sherry Riedle, Lindsey

X RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRANT MIDDLE SCHOOL SCHOOL IMPROVEMENT ILT PLANNING ACTIVITIES SEPTEMBER 23, 2024, \$36.99 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$46.24 EACH: (10-2210-4331-1341-534-5)

Barnard, Angela Rawls, Nicola Gibbs, Katie Silveri, Tracy Harrison, Maggie West, Erica

Minton, Jacquelyn Ziemba-Montavon, Tammy

Montooth, Jennifer

XI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRANT MIDDLE SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES SEPTEMBER 26, 2024, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-4331-1341-534-5)

Archey, Heather K Romer, Gina Gibbs, Katie Strauch, Allyson

Kleinertz, Larresa

XII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL SCHOOL IMPROVEMENT ILT PLANNING ACTIVITIES DECEMBER 5, 2024, \$36.99 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$46.24 EACH: (10-2210-4331-1341-534-5)

Barrett, Caitlin

Boarman, Claire

Constant, Ashley

Crow, Cynthia

Freeman, Tina

Hemstock, Steven

Jimerson, Angela

Johnson, Gay

Scott, Tyra

Westfall, Katrina

Garman, Jeffrey

XIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BBSS PLANNING ACTIVITIES NOVEMBER 21, 2024, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

King, Courtney Noll, Meghan Niemeyer, Cara Woodside, Alexis

XIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES NOVEMBER 25, 2024, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Durbin, Lori Roark, Heather

Nestler, Tena

XV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES DECEMBER 3, 2024, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-4331-1341-534-5)

Baldin, Jennifer Zoll, Alexandra

Vespa, Lindsay

XVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES DECEMBER 2, 2024, \$36.99 PER HOUR: (10-2210-4331-1341-534-5)

Cecil, Katelyn	0.50 hours	\$18.50
Crow, Cynthia	1.50 hours	55.49
Furkin, Ruth	1.50 hours	55.49
Hayes, Stacey	1.50 hours	55.49
Lewis, Danielle	1.50 hours	55.49

XVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FEDERAL FUNDS NON-PUBLIC INTERVENTION ACTIVITIES OCTOBER 15 THROUGH DECEMBER 3, 2024, \$32.26 PER HOUR, 14.5 HOURS FOR A TOTAL OF \$467.77 EACH: (10-3700-0000-1243-531-5)

Schrenk, Nancy

XVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES LEE SCHOOL CPI INSTRUCTIONAL ACTIVITIES NOVEMBER 20 THROUGH DECEMBER 4, 2024, \$36.99 PER HOUR, 5 HOURS FOR A TOTAL OF \$184.95 EACH: (10-1200-6220-1165-000-0)

Burton, Emily

Epley, Karen

XIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BBSS PLANNING ACTIVITIES DECEMBER 5, 2024, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Acker, Allison

Burke, Evan

Dold, Jena

King, Courtney

Lee, Sabrina

Murphy, Melissa

Niemeyer, Cara

Noll, Meghan

Roark, Heather

Woodside, Alexis

XX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ADDAMS ELEMENTARY SCHOOL PLANNING YEAR ILT ACTIVITIES NOVEMBER 26, 2024, \$36.99 PER HOUR, .75 HOURS FOR A TOTAL OF \$27.74 EACH: (10-2210-0100-1341-535-5)

Gilbert, Rachel Mitchell, Natalie

Harris, Sherry

XXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRANT MIDDLE SCHOOL SCHOOL IMPROVEMENT ILT PLANNING ACTIVITIES SEPTEMBER 9, 2024, \$36.99 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$46.24 EACH: (10-2210-4331-1341-534-5)

Barnard, Angela Rawls, Nicola Gibbs, Katie Silveri, Tracy Minton, Jacquelyn West, Erica

Montooth, Jennifer

XXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES DECEMBER 2, 2024, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Durbin, Lori

Roark, Heather

XXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES DECEMBER 2, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-4331-1341-534-5)

Dold, Jena

Langen, Natasha

XXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL PLANNING YEAR BACKWARDS PLANNING ACTIVITIES NOVEMBER 27, 2024, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-3100-1341-535-5)

Creek, William

Rudd, Douglas

XXV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL PLANNING YEAR PLANNING ACTIVITIES DECEMBER 3, 2024, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-3100-1341-535-5)

Duke, Karen

Gebhardt, Emily

XXVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL PLANNING YEAR PLANNING ACTIVITIES DECEMBER 4, 2024, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-3100-1341-535-5)

Duke, Karen

Gebhardt, Emily

XXVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL PLANNING YEAR PLANNING ACTIVITIES DECEMBER 4, 2024, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-3100-1341-535-5)

Creek, William

Rudd, Douglas

Davis, Lacy

XXIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MARSH BBSS SUMMER RETREAT JULY 30, 2024, \$35.57 PER HOUR, 3 HOURS FOR A TOTAL OF \$106.71 EACH: (10-2210-0000-1341-564-5)

Brinkmann, Kristen Brue, Amanda Midiri, Stefanie Poppenhouse, Leslie Sitko, Tristen Washam, Cara XXX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION AVID LEAD AND COORDINATOR ACTIVITIES AUGUST 21 THROUGH DECEMBER 6, 2024, FOR RATE SPECIFIED: (10-2210-0000-1341-564-5)

Austin, Monique	1.00 Stipend	\$255.75
Bluhm, Wendy	1.00 Stipend	132.00
Cano, Michelle	1.00 Stipend	66.00
Crumrine, Carrie	1.00 Stipend	247.50
Daniels, Sherry	1.00 Stipend	99.00
Garcia, Michelle	1.00 Stipend	66.00
Garrett, Olivia	1.00 Stipend	99.00
Harris, Sherry	1.00 Stipend	214.50
House, Elizabeth	1.00 Stipend	156.75
Jimerson, Angela	1.00 Stipend	132.00
Kurz, Amy	1.00 Stipend	198.00
Lantz, Andrew	1.00 Stipend	33.00
Logsdon, Alicia	1.00 Stipend	16.50
Maley, Sarah	1.00 Stipend	115.50
Midiri, Stefanie	1.00 Stipend	99.00
Perry, Whitney	1.00 Stipend	412.50
Ramsey, Robin	1.00 Stipend	297.00
Redpath, Sara	1.00 Stipend	132.00
Robinson, Sarah	1.00 Stipend	33.00
Stevens, Jamie	1.00 Stipend	429.00
Terrell, Temary	1.00 Stipend	198.00
Totura, Jessica	1.00 Stipend	280.50
Tribler, Kimberly	1.00 Stipend	33.00
Vogt, Denise	1.00 Stipend	231.00
Walker, Amy	1.00 Stipend	16.50
Zaffiri, Alise	1.00 Stipend	66.00

XXXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FEDERAL FUNDS NON-PUBLIC INTERVENTION ACTIVITIES NOVEMBER 25 THROUGH DECEMBER 5, 2024, \$32.26 PER HOUR, 14.5 HOURS FOR A TOTAL OF \$467.77 EACH: (10-3700-0000-1243-531-5)

Lamsargis, Kathy

XXXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EDWIN A. LEE SCHOOL PLANNING YEAR CO-TEACH PLANNING ACTIVITIES OCTOBER 23, 2024, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-2700-1341-535-5)

Quarton, Lori

Seiz, Anne

XXXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES DECEMBER CPI INSTRUCTIONAL ACTIVITIES DECEMBER 3 THROUGH DECEMBER 10, 2024, \$36.99 PER HOUR, 8 HOURS FOR A TOTAL OF \$295.92 EACH: (10-1200-6220-1165-000-0)

Burton, Emily

Epley, Karen

XXXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FEDERAL FUNDS 5TH GRADE BAND NOVEMBER 7 THROUGH NOVEMBER 26, 2024, \$36.99 PER HOUR: (10-2210-0000-1341-537-5)

Cornell, Mark	10.75 hours	\$397.64
Elshoff, Anne	11.00 hours	406.89
Gibbs, Shonda	8.75 hours	323.66
O'Hare, Theresa	6.50 hours	240.44
Rockwell, Jennifer	7.50 hours	277.43
Tiemann, Joseph	12.50 hours	462.38
Yockey, Lucille	11.25 hours	416.14

XXXV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION LINDSAY INCLUSION PLANNING SEPTEMBER 19 THROUGH NOVEMBER 21, 2024, \$36.99 PER HOUR, 4.75 HOURS FOR A TOTAL OF \$175.70 EACH: (10-2210-0000-1341-564-5)

Freer, Jordana

Nelson, Courtney

XXXVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRANT MIDDLE SCHOOL SCHOOL IMPROVEMENT ILT PLANNING ACTIVITIES NOVEMBER 4, 2024, \$36.99 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$46.24 EACH: (10-2210-4331-1341-534-5)

Archey, Heather K Scott, Kelly
Buckles, Candice Stevens, Jamie
Gibbs, Katie West, Erica

Rawls, Nicola Ziemba-Montavon, Tammy

Romer, Gina

XXXVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION PATHWAYS TO RESTORATIVE LEADERSHIP PD NOVEMBER 7 THROUGH DECEMBER 3, 2024, \$36.99 PER HOUR: (10-2210-0000-1341-564-5)

Baker, Roxanne	0.75 hours	\$27.74
Gephart, Suzanne	1.50 hours	55.49
Lessen, Kelsey	1.50 hours	55.49
Manning, Pamela	1.50 hours	55.49
Mehmood, Arshad	0.75 hours	27.74
Montooth, Jennifer	0.75 hours	27.74
Moskus, Aliyah	1.50 hours	55.49
Romer, Gina	1.50 hours	55.49
Scheufele, Carrie	1.50 hours	55.49
Vanderslik, Julie	1.50 hours	55.49
Watson, Sara	1.50 hours	55.49

XXXVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR WASHINGTON MIDDLE SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES DECEMBER 4, 2024, \$36.99 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$46.24 EACH: (10-2210-4331-1341-534-5)

Mccarthy, Caitlin Schatz, Katie
Prather, Valerie Sevener, Alayna

XXXIX RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR STUDENT SUPPORT SERVICES OCTOBER MEDICAID BILLING ACTIVITIES OCTOBER 1 THROUGH NOVEMBER 5, 2024, FOR RATE SPECIFIED: (10-2210-6220-1165-000-0)

Albaugh, Jenna	5.00 hours	\$62.33 Per Hour	\$311.65
Blakley, Jennifer	2.50 hours	46.33 Per Hour	115.83
Jose, Bethany	5.00 hours	34.79 Per Hour	173.95
Nelson, Tara	5.00 hours	70.56 Per Hour	352.80
Short, Anne	5.00 hours	37.01 Per Hour	185.05

XL RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES NOVEMBER 25, 2024, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-4331-1341-534-5)

Dold, Jena

Langen, Natasha

XLI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES OCTOBER MEDICAID BILLING ACTIVITIES OCTOBER 1 THROUGH NOVEMBER 5, 2024, FOR RATE SPECIFIED: (10-2210-6220-1342-000-0)

Bramblett, Rebecca	5.00 hours	\$73.24 Per Hour	\$366.20
Brinkmann, Kristen	5.00 hours	66.11 Per Hour	330.55
Clark, Abigail	4.00 hours	57.30 Per Hour	229.20
Clark, Michelle	5.00 hours	78.78 Per Hour	393.90
Corley, Elizabeth	1.75 hours	73.24 Per Hour	128.17
Cruz, Brittany	5.00 hours	63.17 Per Hour	315.85
Deatherage, Debra	5.00 hours	67.86 Per Hour	339.30
Farley, Nicole	5.00 hours	57.30 Per Hour	286.50
Fenstermacher, Lori	5.00 hours	78.78 Per Hour	393.90
Foster, Jennifer	4.00 hours	58.78 Per Hour	235.12
Groesch, Erica	3.25 hours	78.78 Per Hour	256.04
Hummel, Emily	5.00 hours	73.24 Per Hour	366.20
Hussein, Samira	4.50 hours	60.23 Per Hour	271.04
Kim, Whitney	5.00 hours	78.78 Per Hour	393.90
Lanter, Lindsey	5.00 hours	64.96 Per Hour	324.80
Marcum, Stacie	4.50 hours	61.00 Per Hour	274.50
Mcdaniel-Norton, Stacey	5.00 hours	77.67 Per Hour	388.35
Mitchell, Daj'Za	5.00 hours	45.54 Per Hour	227.70
Moore, Carolyn	3.00 hours	69.60 Per Hour	208.80
Parker, Grayce	5.00 hours	60.23 Per Hour	301.15
Plummer, Kahla	2.00 hours	68.06 Per Hour	136.12
Rehn, Megan	5.00 hours	47.01 Per Hour	235.05
Reitz, Laura	5.00 hours	69.60 Per Hour	348.00
Roe, Katie	3.00 hours	75.46 Per Hour	226.38
Rouland, Jill	4.00 hours	67.58 Per Hour	270.32
Sanberg, Kathryn	5.00 hours	55.83 Per Hour	279.15
Sapetti, Camryn	2.50 hours	45.54 Per Hour	113.85
Stern, Molly	2.25 hours	42.61 Per Hour	95.87
Watt-Brennan, Janine	5.00 hours	64.96 Per Hour	324.80